| Efficiency vs Dxy |

>0.05
<

E;

50.04
c

D

=
(¢}

0.025

0.015

0.005

Ratio

.045

.035
0.03

0.02

0.0

1.9

098551580516 1820

TP dxy (cm)

Test_10UUevl

| Efficiency vs Dz |

—=— DQUM CKF-

—e— DOM_CKEREFit-test _1000evt
—— DOM”mkFIitREFit-test _1000evt
—+— D NTESTCKF_ T000evt
—— D N

N
©

>
c
Q
©

Ratio

20.18
>
20.16
£0.14
(]

0.12

TEST 100'0evt

0.2

0.1
0.08
0.06

0.04F

0.02

B —

.........................................................

5
.4
-

B o R R

o
O
ot
o
I
N-.............. PR
o
I
|_\
o
o

1020 30
TP dz (cm)




	Contents
	Page 1


